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1. ,y- lh- Mh- dk iwjk uke gS % 
 

1. L.C.D. expands : 

(A) ystj fØLVy fMLIys  (A) Laser Crystal Display 

(B) ysl dE;qfuVh MsoyiesUV  (B)  Less Community Development 

(C) fyfDoM fØLVy fMLIys  (C)  Liquid Crystal Display 

(D) yks fØLVy fMftVy  (D)  Low Crystal Digital 

2. lks’ky ehfM;k gS % 
 

2. Social media is for : 

(A) ,d O;fDr ds fy,  (A) Single Person 

(B) lewg ds fy,  (B)  Person in Group 

(C) HkhM+ ds fy,  (C)  Person in Mass 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

3. bZ&,DlVsa’ku dk mnkgj.k gS % 
 

3. Example of E-extension is : 

(A) izn’kZuh yxkuk  (A) Organise Exhibition 

(B) ekWMZy] pkVZ yxkuk  (B)  Arrange Models, Charts 

(C) bZ&pkSiky yxkuk  (C)  Organise e-Chaupal 

(D) izn’kZu  (D)  Demonstration in Field  

4. iisV ¼dBiqryh½ ‘kks mnkgj.k gS % 
 

4. Puppet show is an example of : 

(A) bZ&,DlVsa’ku dk  (A) E-extension 

(B) dE;qfuds’ku dk  (B)  Communication 

(C) ,MfefuLVªs’ku dk  (C)  Administration 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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5. th- vkbZ- ,l- dk iwjk uke gS % 
 

5. GIS expand : 

(A) tujy buQkWesZ’ku flLVe  (A) General Information System 

(B) ft;ksxzkfQdy buQkWesZ’ku flLVe  (B)  Geographical Information System 

(C) (A) ,oa (B) nksuksa  (C)  Both (A) and (B) 

(D) u rks (A) u gh (B)  (D)  Neither (A) nor (B) 

6. fMlhtu liksVZ flLVe gS % 
 

6. Decision support system is : 

(A) ,DliVZ flLVe  (A) Expert system 

(B) bjhxs’ku flLVe  (B)  Irrigation system 

(C) IykUVs’ku flLVe  (C)  Plantation system 

(D) xkMsZfuax flLVe  (D)  Gardening system 

7. vkbZ- ,e- ,e- dk iwjk uke gS % 
 

7. Full form of IMM is : 

(A) bf.M;u ekdsZV eSustesUV  (A) Indian Market Management 

(B) bUkQkWesZ’ku eslst ehu  (B)  Information Message Mean 

(C) bUVjuy ekl ehfM;k  (C)  Internal Mass Media 

(D) bUVjSfDVo eYVh&ehfM;k  (D)  Interactive Multi-Media 

8. Mh- Vh- ih- ,d rU= gS % 
 

8. DTP is a system of : 

(A) lwpuk dk  (A) Information 

(B) lapkj dk  (B)  Communication 

(C) ifCyds’ku dk  (C)  Publication 

(D) ,DlVsa’ku dk  (D)  Extension 
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9. ;g dEI;wVj vk/kkfjr rduhd gS % 
 

9. It is a computer based technology : 

(A) vkbZ- Vh-  (A) IT 

(B) vkbZ- lh- Vh-  (B)  ICT 

(C) bUVjusV  (C)  Internet 

(D) mi;qZDr lHkh  (D)  All of the above 

10. fd;kWLd ,d bysDVªkWfud rU= gS tks miyC/k 

djkrk gS % 

 
10. Kiosk is an electronic system which 

provides : 

(A) lwpuk  (A) Information 

(B) flapkbZ  (B)  Irrigation 

(C) iz’kklu  (C)  Administration 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

11. Kkunwr ifj;kstuk ykxw dh x;h Fkh % 
 

11. Gyandoot Project was launched on : 

(A) 1985 esa  (A) 1985 

(B)  1990 esa  (B)  1990 

(C)  1995 esa  (C)  1995 

(D)  2000 esa  (D)  2000 

12. lSVdkWe lEcfU/kr gS % 
 

12. SATCOM is related to : 

(A) izlkj izf’k{k.k ls  (A) Extension Training 

(B) cSafdax ls  (B)  Banking 

(C) ekdsZfVax ls  (C)  Marketing 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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13. bZ&pkSiky ds fy, usVodZ miyC/k djkrk gS % 
 

13. Network of e-Chaupal is promoted by : 

(A) vkbZ- Vh- lh-  (A) ITC 

(B) ,p- ,- ,y-  (B)  HAL 

(C) ,p- ,e- Vh-  (C)  HMT 

(D) ysusok  (D)  LENEVA 

14. ,xzsDl ,d ,DliVZ flLVe gS tks fodflr 

fd;k x;k % 

 
14. AGREX is an expert system developed  

by : 

(A) ;w- ih- ljdkj }kjk  (A) U. P. Govt. 

(B) egkjk”Vª ljdkj }kjk  (B)  Maharashtra Govt. 

(C) dsjy ljdkj }kjk  (C)  Kerala Govt. 

(D) jktLFkku ljdkj }kjk  (D)  Rajasthan Govt. 

15. QkeZ ,Mokbtjh flLVe fodflr fd;k  

x;k % 

 
15. Farm advisory system was developed  

by : 

(A) ih- ,- ;w-] yqf/k;kuk }kjk  (A) PAU, Ludhiana 

(B) vkbZ- vkbZ- ih- vkj-] dkuiqj }kjk  (B)  IIPR, Kanpur 

(C) vkbZ- oh- vkj- vkbZ-] cjsyh }kjk  (C)  IVRI, Bareilly 

(D) vkbZ- vkbZ- oh- vkj-] okjk.klh }kjk  (D)  IIVR, Varanasi 
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16. ,e- vkbZ- ,l- dk iwjk uke gS % 
 

16. Full form of MIS is : 

(A) ekdsZV buQkWesZ’ku flLVe  (A) Market Information System 

(B) ekl buQkWesZ’ku flLVe  (B)  Mass Information System 

(C) eSustesUV buQkWesZ’ku flLVe  (C)  Management Information System 

(D) ehfM;k bUkQkWesZ’ku flLVe  (D)  Media Information System 

17. ,y- ,- ,u- dusfDVfoVh iznku djrk gS % 
 

17. LAN provides connectivity in : 

(A) NksVs {ks= esa  (A) Small area 

(B) vlhfer {ks= esa  (B)  Unlimited area 

(C) jk”Vªh; {ks= esa  (C)  National area 

(D) {ks=h; Lrj ij  (D)  Regional level  

18. bZ&esy dks ;g Hkh dgrs gSa % 
 

18. E-mail is also called : 

(A) bysDVªkWfud esy  (A) Electronic mail 

(B) bysfDVªdy esy  (B)  Electrical mail 

(C) vkfFkZd esy  (C)  Economic mail 

(D) vko’;d esy  (D)  Essential mail 
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19. Hkkjr esa izFke ckj jsfM;ks lsok dh ‘kq#vkr  

gqbZ % 

 
19. In India when did radio service start first  

time ? 

(A) 1917 esa  (A) 1917 

(B) 1927 esa  (B)  1927 

(C) 1937 esa  (C)  1937 

(D) 1947 esa  (D)  1947 

20. fczfV’k czkWMdkfLVax dkWikZsjs’ku ¼ch- ch- lh-½ 

LFkkfir gqvk % 

 
20. British Broadcasting Corporation (BBC) 

established on : 

(A) 14 uoEcj] 1922 dks  (A) November 14, 1922 

(B) 2 vDVwcj] 1936 dks  (B)  October 2, 1936 

(C) 15 vDVwcj] 1945 dks  (C)  October 15, 1945 

(D) 13 tuojh] 1955 dks  (D)  January 13, 1955 

21. fuEufyf[kr esa ls fdl LFkku ij loZizFke 

jsfM;ks lsok pkyw dh x;h Fkh \ 

 
21. Which one of the following places first 

time radio services had started ? 

(A) ubZ fnYyh  (A) New Delhi 

(B) Hkksiky  (B)  Bhopal 

(C) ckWEcs  (C)  Bombay 

(D) y[kuÅ  (D)  Lucknow 
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22. nwjn’kZu }kjk d`f”k nwjn’kZu dk;ZØe ‘kq: fd;k 

x;k % 

 
22. Krishi Darshan Programme was started 

by Doordarshan on : 

(A) 26 tuojh] 1967 dks  (A) 26 January, 1967 

(B) 2 vDVwcj] 1977 dks  (B)  2 October, 1977 

(C) 15 flrEcj] 1985 dks  (C)  15 September, 1985 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

23. Hkkjr esa] izFke nwjn’kZu dsUnz LFkkfir gqvk % 
 

23. In India, first Doordarshan Centre 

established on : 

(A) 2 vDVwcj] 1950 dks  (A) 2 October, 1950 

(B) 15 flrEcj] 1959 dks  (B)  15 September, 1959 

(C) 15 tuojh] 1965 dks  (C)  15 January, 1965 

(D) 15 vxLr] 1970 dks  (D)  15 August, 1970 

24. ^d`f”k lq/kk* uked xzkeh.k lekpkj&i= igyh 

ckj izdkf’kr gqvk % 

 
24. First rural newspaper named ‘Krishi 

Sudha’ was published in : 

(A) 1885 esa  (A) 1885 

(B) 1895 esa  (B)  1895 

(C) 1904 esa  (C)  1904 

(D) 1914 esa  (D)  1914 
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25. fuEufyf[kr esa ls fdls lekpkj&i= dk fMLIys 

foUMks dgrs gSa \ 

 
25. Which of the following is called Display 

Window of Newspaper ? 

(A) gSfMax  (A) Heading 

(B) ifjp;  (B)  Introduction 

(C) eq[; va’k  (C)  Main body 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

26. Xykscy foyst dk eryc gS % 
 

26. Global village means : 

(A) x`g uxj  (A) Home town 

(B) x`g jkT;  (B)  Home state 

(C) lEiw.kZ ns’k  (C)  Whole nation 

(D) lEiw.kZ fo’o  (D)  Whole world 

27. ;w- ,l- ch- dk iwjk uke gS % 
 

27. Full form of USB is : 

(A) ;wuholZy flLVe cl  (A) Universal System Bus 

(B) ;wuholZy lhfj;y cl  (B)  Universal Serial Bus 

(C) ;wuhoflZVh flLVe cl  (C)  University System Bus 

(D) ;wfud flLVe cl  (D)  Unique System Bus 
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28. lpZ batu dk mnkgj.k gS % 
 

28. Example of search engine is : 

(A) xwxy  (A) Google 

(B) ;w- ,l- ch-  (B)  USB 

(C) ih- Mh- ,Q-  (C)  PDF 

(D) ,y- ,- ,u-  (D)  LAN 

29. ,d th- ch- MkVk cjkcj gksrk gS % 
 

29. One GB data is equal to : 

(A) 1120 ,e- ch-  (A) 1120 MB 

(B) 1024 ,e- ch-  (B)  1024 MB 

(C) 1340 ,e- ch-  (C)  1340 MB 

(D) 1420 ,e- ch-  (D)  1420 MB 

30. dEI;wVj esa QksYMlZ dks ;g Hkh dgrs gSa % 
 

30. Folders in computer is also called : 

(A) VkLd ckj  (A) Task bar 

(B) vkbdkWUl  (B)  Icons 

(C) oky isij  (C)  Wall paper 

(D) Mk;jsDVªht  (D)  Directories 
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31. bZ&,DlVsa’ku dk vFkZ gS % 
 

31. E-extension means : 

(A) bUMksj ,DlVsa’ku  (A) Indoor extension 

(B) bUVj ,DlVsa’ku  (B)  Enter extension 

(C) bysDVªkWfud ,DlVsa’ku  (C)  Electronic extension 

(D) bysfDVªdy ,DlVsa’ku  (D)  Electrical extension 

32. bZ&,DlVsa’ku dks bl uke ls Hkh tkuk tkrk gS % 
 

32. E-extension is also known as : 

(A) vksojlht ,DlVsa’ku  (A) Overseas extension 

(B) jhtuy ,DlVsa’ku  (B)  Regional extension 

(C) ft;ksxzkfQdy ,DlVsa’ku  (C)  Geographical extension 

(D) lkbcj ,DlVsa’ku  (D)  Cyber extension 

33. eSust fLFkr gS % 
 

33. MANAGE is situated in : 

(A) vkuUn] xqtjkr esa  (A) Anand, Gujarat 

(B) iwlk] ubZ fnYyh esa  (B)  Pusa, New Delhi 

(C) y[kuÅ] m- iz- esa  (C)  Lucknow, Uttar Pradesh 

(D) jktsUnzuxj] gSnjkckn esa  (D)  Rajendra Nagar, Hyderabad 

34. dEI;wVj esa dhcksMZ gS % 
 

34. Keyboard in computer is : 

(A) buiqV fMokbl  (A) Input device 

(B) vkmViqV fMokbl  (B)  Output device 

(C) LVksjst fMokbl  (C)  Storage device 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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35. ;g fizUVj dk izdkj gS % 
 

35. It is a type of printer : 

(A) MkWV eSfVªDl  (A) Dot-matrix 

(B) badtsV  (B)  Inkjet 

(C) ystj tsV  (C)  Laser jet 

(D) mi;qZDr lHkh  (D)  All of the above 

36. ;g gekjh vkokt dks dEI;wVj esa fjdkWMZ djrk 

,oa Hkstrk gS % 

 
36. It helps to record and send our sound in to 

the computer : 

(A) ih- ,- ,l-  (A) PAS 

(B) oscdSe  (B)  Webcam 

(C) tkW;fLVd  (C)  Joystick 

(D) ekbØksQksu  (D)  Microphone 

37. ;g dEI;wVj esa vkmViqV fMokbl gksrk gS % 
 

37. It is output device in computer system : 

(A) dhcksMZ  (A) Keyboard 

(B) ekml  (B)  Mouse 

(C) LdSuj  (C)  Scanner 

(D) ekWuhVj  (D)  Monitor 

38. fuEufyf[kr esa ls dkSu dEI;wVj esa vkUrfjd 

gkMZos;j gS \ 

 
38. Which hardware is connected internally 

in computer ? 

(A) LdSuj  (A) Scanner 

(B) oscdSe  (B)  Webcam 

(C) gkMZ fMLd  (C)  Hard disk 

(D) ekWuhVj  (D)  Monitor 
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39. Mh- oh- Mh- dk iwjk uke gS % 
 

39. Full form of DVD is : 

(A) fMokbM ohfM;ks fMLd  (A) Divide Video Disc 

(B) Mcy ohfM;ks fMLd  (B)  Double Video Disc 

(C) Msy ohfM;ks fMLd  (C)  Dell Video Disc 

(D) fMftVy ohfM;ks fMLd  (D)  Digital Video Disc 

40. lh- Mh- dk vkdkj gksrk gS % 
 

40. The shape of CD is : 

(A) xksy  (A) Round 

(B) vksoy  (B)  Oval 

(C) frdksuk  (C)  Triangle 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

41. fuEufyf[kr esa ls dkSu ,d flLVe lkW¶Vos;j 

gS \ 

 
41. Which of the following is a system 

software ? 

(A) ykbuDl  (A) Linux 

(B) vkbZ- vks- ,l-  (B)  IOS 

(C) ,UMªkW;M  (C)  Android 

(D) mi;qZDr lHkh  (D)  All of the above 

42. flLVe lkW¶Vos;j dks bl uke ls tkuk gS % 
 

42. System software is also called : 

(A) fMftVy flLVe  (A) Digital system 

(B) bUVuZy flLVe  (B)  Internal system 

(C) vkWijsfVax flLVe  (C)  Operating system 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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43. vkbZ- lh- Vh- dk iwjk uke gS % 
 

43. Full form of ICT is : 

(A) bf.M;u dUVªh Vhe  (A) Indian Country Team 

(B) bQdks dksvkWijsfVo VªLV  (B)  Iffcco Cooperative Trust 

(C) bUkQkWesZ’ku dE;qfuds’ku VsDuksykWth  (C)  Information Communication 

Technology 

(D) bUkQkWeZs’ku ds;j Vhe  (D)  Information Care Team 

44. bUVjus’kuy usVodZ vkWQ dEI;wVj dks dgrs gSa % 
 

44. International Network of Computers is 

called : 

(A) vkbZ- Vh-  (A) IT 

(B) vkbZ- lh- Vh-  (B)  ICT 

(C) bUVjusV  (C)  Internet 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

45. MCY;w- MCY;w- MCY;w- dk iwjk uke gS % 
 

45. Full form of W.W.W. is : 

(A) osc oYMZ okbM  (A) Web World Wide 

(B) oYMZ osc okbM  (B)  World Web Wide 

(C) oYMZ osc oYMZ  (C)  World Web World 

(D) oYMZ okbM osc  (D)  World Wide Web 

46. osc ,Mªsl dks ;g Hkh dgrs gSa % 
 

46. Web address is also known as : 

(A) MCY;w- MCY;w- MCY;w-   (A) W.W.W. 

(B) vkbZ- lh- Vh-  (B)  ICT 

(C) ;w- vkj- ,y-  (C)  URL 

(D) bUVjusV  (D)  Internet 
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47. MCY;w- MCY;w- MCY;w- ds tud gSa % 
 

47. Father of W.W.W. is : 

(A) fVe cuZj yh  (A) Tim Berners Lee 

(B) lqUnj fipkbZ  (B)  Sunder Pichaie 

(C) ijkx vxzoky  (C)  Parag Agrawal 

(D) ekbd cuZj yh  (D)  Mike Berners Lee 

48. vk/kqfud dEI;wVj ds tud ds :i esa tkus 

tkrs gaS % 

 
48. Father of Modern Computer is known  

as : 

(A) pkYlZ cscst  (A) Charles Babbage 

(B) fVe cuZj yh  (B)  Tim Berners Lee 

(C) ekdZ tqdjcxZ  (C)  Mark Zukerberg 

(D) tkWu dkSe  (D)  Jan Koum 

49. DykmM ‘kSuu us D;k [kkstk Fkk \ 
 

49. What did Claude Shannon invented ? 

(A) vkbZ- lh- Vh-  (A) ICT 

(B) bUVjusV  (B)  Internet 

(C) baLVkxzke  (C)  Instagram 

(D) xwxy  (D)  Google 
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50. Hkkjr esa vkbZ- lh- Vh- dc ‘kq: gqvk \ 
 

50. When did ICT start in India ? 

(A) 1995  (A) 1995 

(B)  2000  (B)  2000 

(C)  2004  (C)  2004 

(D)  2009  (D)  2009 

51. ekbØks dEI;wfVax ds tud gSa % 
 

51. Father of micro computing is : 

(A) elZ dqV  (A) Mers Kutt 

(B) tkWu ,dVZ  (B)  John Eckert 

(C) tku dkSe  (C)  Jan Koum 

(D) lqUnj fipkbZ  (D)  Sunder Pichaie 

52. fVe ch- ,y- ,d dEI;wVj oSKkfud gSa tks 

lEcfU/kr gSa % 

 
52. Tim B. L. is a computer scientist belonging 

to : 

(A) vesfjdk ls  (A) America 

(B) baXyS.M ls  (B)  England 

(C) dukMk ls  (C)  Canada 

(D) tkiku ls  (D)  Japan 

53. ih- Mh- ,Q- dk iwjk uke gS % 
 

53. Full form of P.D.F. is : 

(A) ikWyh MkWD;wesUV QkWesZV  (A) Poly Document Format 

(B) iksVsZcy MkWD;wesUV QkWesZV  (B)  Portable Document Format 

(C) isLV MkWD;wesUV QkWesZV  (C)  Paste Document Format 

(D) isijysl MkWD;wesUV QkWesZV  (D)  Paperless Document Format 
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54. isu Mªkbo gS % 
 

54. Pen drive is a : 

(A) bysDVªkWfud fMokbl  (A) Electronic device 

(B) bysfDVªdy fMokbl  (B)  Electrical device 

(C) jsfM;ks fMokbl  (C)  Radio device 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

55. Qslcqd ds tud gSa % 
 

55. Father of Facebook is : 

(A) lqUnj fipkbZ  (A) Sunder Pichaie 

(B) ekdZ tqdjcxZ  (B)  Mark Zukerberg 

(C) czk;u ,DVu  (C)  Brian Acton 

(D) tku dkSe  (D)  Jan Koum  

56. czk;u ,DVu ,oa tku dkSe us cuk;k % 
 

56. Brian Acton and Jan Koum founded : 

(A) MCY;w- MCY;w- MCY;w-  (A) WWW 

(B) Qslcqd  (B)  Facebook 

(C) kV~l,i  (C)  Whats App 

(D) bUVjusV  (D)  Internet 

57. izlkj ds tud gSa % 
 

57. Father of extension is : 

(A) ts- ih- yhxUl  (A) J. P. Leagans 

(B) dsYlh ,oa guhZ  (B)  Kelsey and Hearne 

(C) tsEl LVqvkVZ  (C)  James Stuart 

(D) Mh- bUlfeUtj  (D)  D. Ensminger 
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58. ^izlkj* ‘kCn loZizFke iz;ksx gqvk % 
 

58. The word ‘Extension’ used first time in : 

(A) ;w- ,l- ,- esa  (A) U. S. A. 

(B) tkiku esa  (B)  Japan 

(C) fczVsu esa  (C)  Britain 

(D) Hkkjr esa  (D)  India 

59. fLeFk yhoj ,DV ikl gqvk % 
 

59. When was Smith Lever Act passed ? 

(A) 2004 esa  (A) 2004 

(B) 1995 esa  (B)  1995 

(C) 1914 esa  (C)  1914 

(D) 1898 esa  (D)  1898 

60. vkbZ- lh- ,- vkj- LFkkfir gqvk % 
 

60. ICAR established in : 

(A) 1829 esa  (A) 1829 

(B) 1856 esa  (B)  1856 

(C) 1929 esa  (C)  1929 

(D) 2004 esa  (D)  2004 

 

 

 

 

 

 

 

 

 

 

 



  

   

4. Four alternative answers are mentioned for 
each question as—A, B, C & D in the booklet. 
The candidate has to choose the most 
correct/appropriate answer and mark the 
same in the OMR Answer-Sheet as per the 
direction : 

 4. iz’u&iqfLrdk esa izR;sd iz’u ds pkj lEHkkfor mŸkj  

A, B, C ,oa D gSaA ijh{kkFkhZ dks mu pkjksa fodYiksa esa ls 

,d lcls lgh vFkok lcls mi;qDr mŸkj Nk¡Vuk gSA 

mŸkj dks OMR vkUlj&’khV esa lEcfU/kr iz’u la[;k esa 

fuEu izdkj Hkjuk gS % 

Example :  mnkgj.k % 

Question :  iz’u % 

Q. 1  iz’u 1 

Q. 2  iz’u 2 

Q. 3  iz’u 3 

Illegible answers with cutting and  

over-writing or half filled circle will be 

cancelled. 

 viBuh; mŸkj ;k ,sls mŸkj ftUgsa dkVk ;k cnyk x;k 

gS  ;k xksys esa vk/kk Hkjdj fn;k x;k  mUgsa fujLr dj 

fn;k tk,xkA 

5. Each question carries equal marks. Marks 
will be awarded according to the number of 
correct answers you have. 

 5.  izR;sd iz’u ds vad leku gSaA vkids ftrus mŸkj 

lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA 

6. All answers are to be given on OMR Answer 
sheet only. Answers given anywhere other 
than the place specified in the answer sheet 
will not be considered valid. 

 6. lHkh mŸkj dsoy vks- ,e- vkj- mŸkj&i=d (OMR 

Answer Sheet) ij gh fn;s tkus gSaA mŸkj&i=d esa 

fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k 

mŸkj ekU; ugha gksxkA 

7. Before writing anything on the OMR Answer 
Sheet, all the instructions given in it should 
be read carefully.  

 7. vks- ,e- vkj- mŸkj&i=d (OMR Answer Sheet) ij 

dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s lHkh vuqns’kksa dks 

lko/kkuhiwoZd i<+ fy;k tk;sA 

8. After the completion of the examination 
candidates should leave the examination hall 
only after providing their OMR Answer 
Sheet to the invigilator. Candidate can carry 
their Question Booklet. 

 8. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks 

viuh OMR Answer Sheet miyC/k djkus ds ckn 

gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ vius lkFk 

iz’u&iqfLrdk ys tk ldrs gSaA 

9. There will be no negative marking.  9. fuxsfVo ekfd±x ugha gSA 

10. Rough work, if any, should be done on the 
blank pages provided for the purpose in the 
booklet. 

 10. dksbZ Hkh jQ dk;Z  iz’u&iqfLrdk ds vUr esa  jQ&dk;Z 

ds fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A 

11. To bring and use of log-book, calculator, 
pager and cellular phone in examination hall 
is prohibited. 

 11. ijh{kk&d{k esa ykWx&cqd] dSydqysVj] istj rFkk lsY;qyj 

Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA  

12. In case of any difference found in English 
and Hindi version of the question, the 
English version of the question will be held 
authentic. 

 12. iz’u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus dh 

n’kk esa iz’u dk vaxzsth :ikUrj.k gh ekU; gksxkA 

Impt. : On opening the question booklet, first 
check that all the pages of the question 
booklet are printed properly. If there is ny 
discrepancy in the question Booklet, then 
after showing it to the invigilator, get 
another question Booklet of the same series. 

 
egRoiw.kZ % iz’uiqfLrdk [kksyus ij izFker% tk¡p dj ns[k ysa 

fd iz’u&iqfLrdk ds lHkh i”̀B HkyhHkk¡fr Nis gq, gSaA 

;fn iz’uiqfLrdk esa dksbZ deh gks] rks d{kfujh{kd dks 

fn[kkdj mlh fljht dh nwljh iz’u&iqfLrdk izkIr  

dj ysaaA 


	EXT-5021-Cover-Set-C.pdf (p.1-3)

